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10.

11.

PART A — (10 x 2 = 20 marks)
Answer any TEN questions.

Define Costing.

SLESAm @uicd euanTwimi.

Write a short note on profit centre.

@eru enwwid ubhdl Am GOILIL eT(pFIs.

What is sunk cost?

SLSsMeme CUTEHE; TeTDTE) GTeTeT ?

What do you understand by memorandum reconciliation?
#flsl_Qse @iy upd Belr oidleug wrg ?

Give the formula for Re-order level.

DN YT HOEETRT GHEHTSMS &(Hb.

Write a short note on base stock method.
SigliueL Qmiy wop updl Ao GHluLY awWgs.
What do you mean by over time?

Wens CrBID eremligl wmg)?

List out methods of wage payment.

F6) QFSFH (PODEHEMET LiL g wad([H)s.

Define Overheads.
CophCFaeysHeT cuanrwim.
What is machine hour rate?

Sy wanfl Crr eI eremmmed 6TeimeT ?

Give short note on market price method.

shang allea pop LHH Hp GHLY S5s.



12.

13.

14.

Mention any two transactions included in financial account but

not in cost accounts.

Bdblene samsdlwadley Corpbglerer BLelgsmaseies gCsabd
@rearenL GNULAHs.

PART B — (5 x 5 = 25 marks)

Answer any FIVE questions.

Explain the nature of cost accounting.

9L &5 allaned samslwieilen @eanr baersamer alleu

The following data, relating to a factory for the year 2009 are

available:
Materials consumed Rs. 2,00,000
Direct wages Rs. 1,50,000
Factory expenses Rs. 90,000

Administrative expenses Rs. 88,000

Based on the above data, find out the cost of a job to be done in
January 2010.

Materials required Rs. 20,000
Wages for the job  Rs. 15,000
What price will be quoted for the job, if a profit at 20% on selling
1s required?
Q@ Yameuiler 2009-1b YyaTHEETar eleurmhse eTe T :
epLIGUIMmeTaS6T LiweTum(p 5. 2,00,000

Crrig g6 em. 1,560,000
e CFwa|ser e 90,000
Cueramein Cgaaser em. 88,000

CuGa @mludlperer afleughisamar gLl wrs Caremh gereu
- 2010-1b Y @THEETEr LanlGsaumsmas sanésd (.

Coemaeuwiman epeoLiGlLIm(merT . 20,000
LenflssTar gned . 15,000
dpueerde  20%  @eorubd  Cermpb  Qumepg uellss,

GD&sLILL (HeTer aflenay eTebme ?
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15. The following transactions took place in respect of material X.

Date Receipts Rate Issue
(Quantity) (Bs)  (Quantity)

02.03.2010 200 2.00
10.03.2010 300 2.40
15.03.2010 250
18.03.2010 250 2.60
20.03.2010 200

Prepare a priced ledger sheet pricing the issue at Simple
average rate.

Gemeupld  pBLeaugsamasser  epaliCummer  X-ssms  T(HSHIS

QamarerliLhSmg.
BTG Quusdser 6igb  OCFQdgiFeH
(@ama) () (SiaTey)
02.03.2010 200 2.00
10.03.2010 300 2.40
15.03.2010 --- 250
18.03.2010 250 2.60
20.03.2010 --- 200

eraflw grmefl wpenpuiled eflena CUCTL (B srener gwmt Cewis.

16. From the following particulars, prepare the labour cost sheet per
man-day of 8 hours:
(a) Basic salary Rs. 20 per day

(b) Dearness allowance Rs. 2.50 for every point over 100
Cost of Living Index of working
class-current cost of living Index
700 points.

(c) Leave salary 10% of (a) and (b)
(d) Employers

contribution to P.F. 8% of (a), (b) and (c¢)
(e) Employer's

contribution to State 2% of (a), (b) and (c)

Insurance
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17.

®

(@

Expenditure on

amenities to labour Rs. 200 per head

mensem
Number of working

days in a month 25 days of 8 hours each.

Gemeupd elleugmisaers Oasmar®, @ GCeuamewm@rdd 8 ewi
Cryb CsmenT b BrEhéE@ AL&S DFwamelsd sarss[h.

(1)

(<)

()

(2.)

(2er)

(er)

Sllg L6 FDLIETLD fh. 20 BITET QETNI&HE

L@h&LILIg . 2.50 g@eueumm yereflE@n 100
SHlaswmEblumipg, BEnL_(LPenD
cu@ LI er Hleneowimenr N>
O L_@U 6 &mT BLLIL Bleneowimen
9L &S 9ILL_6eneuT 700
Hereflgemm@Ld.

LIy FbueTd () LHMID (2Y,)-6ll6d 10%

Caoper sriy HlElsE ermwrarfler umsaliy <. <, LHMHID
@) -@d 8%

wrble STl H&@ ergwreanter ukiseliy <, <, WLHOHID
@-a 2%

Qsmeomert  eusSla@Epsatar OFwesam . 200 @
QzmeraisE

wrssHer Couamer BT s6r 8 wanfl cigld 25 BHIL_&ET.

Calculate machine hour rate to cover the overheads expenses

indicated below:

Per hour Per annum
Electric power 85 p. Repairs Rs. 530
Steam 10 p. Rent Rs. 270
Water 5 p. Running hours 2,000

Original cost of machine is Rs. 12,000, Book value Rs. 2,870.
Present replacement value is Rs, 11,500. Depreciation being
10% pa.
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18.

19.

20.

21.

&G Qar@ssiiul_(Herer CopOswejsamar Qarar® erbdy el
ABSMG HeEHE (HS.

RIGERLIETC) ABHTOEES
WlerrgmiyLd 85 epy  L(pGlumiTiLy Rs. 530
Bymell 568 10y MLos Rs. 270
i 5 L guﬁgém @G 2,000
BTLD

Qupdrsder oLsgellenew ep. 12,000. gl () WSy ep. 2,870.
BLUY  brdm wdiy e 11,500, Gauwmerd ar(Hi&E@ 10%
OIGEIGTEE

Explain the concept of ABC analysis.
ABC u@uiurueier smsgissamer ailaufl.

How will you prepare a reconciliation statement?

#Msl Hse Sdsmsamw B ereueumm swimi CQaieimii?
PART C — (3 x 10 = 30 marks)
Answer any THREE questions.

Distinguish between cost accounting and management
accounting.

ILsslne samsHLsED, CLTaren SamsdwuasH@&En 2 6rer
Caumiuim(®) wing?

The following details have been obtained from the cost records of
A Litd., Prepare cost sheet.

Rs.
Stock of raw materials (1.1.2005) 75,000
Stock of raw materials (31.12.2005) 91,500
Direct wages 52,500
Indirect wages 2,750
Sales 2,11,000
Work-in-progress (1.1.2005) 28,000
Work-in-progress (31.12.2005) 35,000
Purchase of raw materials 66,000
Factory rent, rates and power 15,000
Depreciation of plant and machinery 3,500
Expenses on purchases 1,500
Carriage outwards 2,500
Advertising 3,500
Office rent and taxes 2,500
Traveller's wages and commission 6,500
Stock of finished goods (1.1.2005) 54,000
Stock of finished goods (31.12.2005) 31,000
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A AOCLger @Lds uUliguemossTar eleurhser 6o HLrm).
Sjeupenn Carean(h ILssallene samsdwed sraner Swmilss.

€.
epeliQurmetler @@L (1.1.2005) 75,000
epeliGummetienr @mLiL (31.12.2005) 91,500
Criyigd Fned 52,500
LDED(PS Fn6dl 2,750
edlhHLemer 2,11,000
uenfludé euerigdl (1.1.2005) 28,000
LenfluGéd auariad (31.12.2005) 35,000
epLIGUITHET eumrmhidlwig 66,000
YOO GUTL NS, iFmIGET, erflGlLimmer 15,000
Qumd wHmid QuipbHrbd Bsrer Csuibreard 3,500
Qametupge Wemear Cewe s 1,500
Geuaflgné @ &bl 2,500
eflambLiyLd 3,500
SDIIDS UTLG LHDID euUil&GeT 2,500
vwenliueuisatien gnedl HMID HLfley 6,500
e L bs ummefler wgliuy (1.1.2005) 54,000

e SemLbs dummaier wdiiy (31.12.2005) 31,000

From the following particulars, write up the priced stores ledger
card:

2010

July
1 Purchased 500 kgs. @ Rs. 2 per kg.
10 Purchased 300 kgs @ Rs. 2.10 per kg.
15 Issued 600 kgs.
20 Purchased 400 kgs. @ Rs. 2.20 per kg.
25 Issued 300 kgs.
27 Purchased 800 kgs. @ Rs. 2.10 per kg.

31 Issued 500 kgs.

Adopt base stock method of issues using FIFO principle and
ascertain the value of closing stock. Base stock being 200 kgs.
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23.

24.

Wemeumd efleurmsaner Qaremp elleneuil il @m@wuy CuGrl@
L DLW UDTE.

2010

July
1 Qamerpsd 500 SCavrm em. 2 aigbd
10 Qsmerapse 300 SCam ep. 2.10 aligid
15 aupmd®h 600 G

20 Qamerapsed 400 HCarm ep. 2.20 cisid
25 aupr&® 300 HCar
27  Qamerapse 800 HCGerm en. 2.10 aigd

31  eupr&@ 500 HCemr

Sgliue. spadmry weppuliled wpged 26 g Ceuafl aldlenw
vwerU(hSS @mi &Ué;a%%uu wdllienu sarsdl(h. gl FI&E,
200 SlGmeuns @ (m&@ 0.

What are the various causes for labour turnover? Explain.
Qamflerert wrhn eissSer LOCeum sTravTRIGET WTael? clileurf.

A manufacturing concern is divided into four departments. A, B
and C are production departments and X is a service
department. The actual expenses for a period are as follows:

Rs.
Rent 10,000
Depreciation on plant 4,500
Supervisory expenses 15,000
Power 9000
Repairs to plant 6,000
Lighting expenses 1,000
Fire insurance on stock 5,000
Employer’s liability for 1,500

employer's insurance

The following information is available in respect of four

departments.

Dept. A  Dept. B Dept. C Dept. D
Area in Sq.ft. 1,500 1,100 900 500
Light points 15 11 9 5
Number of employees 200 150 100 50
Total wages (Rs.) 60,000 40,000 30,000 20,000
Value of plant (Rs.) 2,40,000 1,80,000 1,20,000 60,000
Value of stock (Rs.) 1,560,000 90,000 60,000

Apportion the costs to the various department on the most

equitable method.
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e swurfliy Blmeiard Brerg gepsearns WAfssuul (heaerg. A, B

oHnid C 2pusd sopserngh. wombd X Csmel gm < @LD.
2 amenlo CFewaser emeuHomm :

€.
QUTL NG 10,000
Qum Ssrer Csuirerd 4,500
Cuhurrenes Fweser 15,000
Ol GTEMIyLD 9,000
QuTd&ETET LIPGILITTLIL 6,000
clleré @ QFaa|ser 1,000
F1&@ Werer & smilh 5,000

uenflwmer smUST H&@ Lanfl Swirsgiaer Qurpiiyser 1 500
BTENE SIaMDEEHSETET 6lleUThiseT [YeamelmLmy) :
geopA gopB geonC gepD

FSIT 2ilg LTI 1,500 1,100 900 500
cMerg@safien eramanilsans 15 11 9 5
venflwmer ereirenflseans 200 150 100 50
Quiss e (6r.) 60,000 40,000 30,000 20,000
Quimd iy (er.) 2,40,000  1,80,000 1,20,000 60,000
grédlen i (er.) 1,50,000 90,000 60,000

@ Wss  goaur(®  wpepuller  udGeum  FHMDMSEHHEGD
Qeoa|samar LIGITHE efldsiuL CeauaT(Hib.
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